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1 fEf Bt 5.12.41 1 5
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1 SH B 42717 1 2 6
2 EH RE 4.37.96 2 2 5
3 hH ER 4.43.10 3 2 9
4 Bl k#% 5.06.47 1 3 8
5 #ix B= 5.08.90 2 3 2
6 = /X 5.10.79 4 2 8
7 we - 5.12.68 3 3 7
8 B, &0 5.15.33 5 2 3
9 A+ 8T 5.17.40 4 3 4
10 =mE W4 5.20.89 5 3 3
11 X B 5.29.35 6 2 2
12 B #E 5.41.76 6 3 5
13 EH FiE x 2 4
14 e R x 2 7
15 Xig BdE x 3 1
16 e K x 3 6
17 kH B2 x 3 9
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1 EH EKiE 9.32.79 1 1 14
2 FH B 9.34.41 2 1 13
3 =X R 9.35.17 3 1 6
4 Wik R 9.43.73 4 1 10
5 Al M 9.54.84 5 1 8
6 HET 10.03.54 6 1 9
7 L8 & 10.08.37 7 1 4
8 B Ht— 10.26.76 8 1 7
9 thit FE& 10.30.89 9 1 11
10 f£H Hh 10.50.25 10 1 16
11 wmH 2 10.54.22 11 1 12
12 FaIER  i%1EH 13.33.33 15 1 3
13 xH#H B2 x 1 5




